
1a. Relevant Features in HRF

1b. Define Ha

1c. Original data

yr collected?

2. Calculate required sample 
size for yr

3. Prior Predictive p-value + γ

ppp = 1.00?

The new study matches HRF. 
Replication is confirmed.

γ ≥ 1 - β?

ppp < α?

Replication is rejected. 
Report γ for Ha.  

yes

no

yes

no

yes

yes

ppp < . α?
no

Replication is rejected despite 
low power. The observed data 
is more extreme than Ha

.

Replication is not rejected, 
despite sufficient power to 
do so. Report γ for Ha.  

no

yes

Replication is not rejected. Report γ and 
emphasize that the Type II error is 1- γ for 
Ha. Optional: go back to 2. to see if a larger 
new study could resolve the power issue, or 
if the original study and its conclusions are 
not specific enough to test replication at all. 

no

njr = ∞?

The original study is not 
suited for replication testing 
with the prior predictive p

yes

no

1. O
riginal Study


